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Make your choice (1, 2, 3 or4). Shade ethe corfect oval on the Optical Answer Sheet
(OAS).

[56 marks]

$ shows that a dragonfly is a living thing?

(2)  Adragonfly has wings.
(3) Adragorify is smallerthan a book.
(4) Adragonfly has a pair of antennae on its head.

2. Study the characteristics'of P, Q, R and S in the table shown below.

[ Has legs. Needs water Ability to move
from place to place
P No Yes No
Q Yes Yes Yes
R " No Yes Yes
S Yes No Yes

Which one of the following s mest ikely to be a non-living thing?

(1 p
(2 Q
@) R
@ s

{Go on to the next page)
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Jusri saw a Bird's nest fern on his way home from school as shown below.

Which of the following group(s) can this plant be placed into?

Group A

Group B

Group C

Bears flowers -

Reproduces by spores

Makes its own food

(1)
(2)
(3)
@

B only

A and B only
A and C only
B and C only

(Go on to the next page)



Which animals could W, X, Y and Z be?

W X Y 2
(1) snake penguin Snake |  chicken
(2) goldfish lion tutle | sparrow
(3) ___whale snake chicken ! shark
@) " lion dolphin mynah | snake |

(Go on to the next page)
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Shumin placed four similar apples in four identical sealed boxes as shown below.

Box T (32°C) Box U (32°C)

substance Y water

X ;

Box W (4°C)

water

e

She placed the boxes T and U at 32°C and boxes V and W at 4°C. Substance Y

absorbs water from the surrounding. Which box, T, U, V and W, would fungus first
appear on the apple?

(1) BoxT
(2) BoxU
(3) BoxV
(4) BoxW-

(Go on to the next page)



A seed germinated after 5 days and it became a young plant. The young plant was
given light, water and air from the 6™ - 10" day. Which one of the following graphs
shows the changes in the height of the young plant between the 6th — 10m day?
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(Go on to the next page)



7.

Study the life cycle of an insect below.

HqE

Tl

Ac(!E!_t (— 3

If G represents the adult stage, at which stage does the process of moulting take
place?

(1)
(2)
(3)
(4)

Iomm

Mary did a study on two animals, Q and R. At the end of her study, she completed
a checklist as shown below,

 Observation 4 "Animal Q [ Animal R |
It has six legs. N V

| Eggs are laid in water. X v
There are 4 stages in the life cycle. X v

Which one of the following shows Animal Q and R correctly?

Animal Q Animal R
(1) | Butterfly Beetle
(2) | Grasshopper Butterfly
(3) 1Mosquito Frog
(4) | Cockroach Mosquito

{Go on to the next page)



9. The diagram below shows a part of a leaf under a microscope.

What is the function of the leaf that are labelled S?

.

@

(4)

They make food for the plant.

They absorb water for the plant.

They take in light only for the plant.

They allow gaseous exchange for the plant.

10.  The diagram below shows a healthy plant in a garden.

Which of the following statemeni(s) is/are correct?

(1)
(2)
(3)
(4)

A | This plant has a weak stem.

B This plant is a flowering plant.

C This plant does not have roots.

A only

A and B only
A and C only
A,BandC

(Go on to the next page)
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12.

Study the statements made by the three students carefully.

Student Function

Fatimah_| The leaves make food for the plant.

Jie Ming | The stem su the branches and leaves of the plant. -
Donna__| The roots transport water and mineral salts throughout the plant.

Which student(s) has/have made thé wrong statement about the function of a piant

part?

(1)
(2)
(3)
)

Donna

Jie Ming

Fatimah and Jie Ming
Donna and Jie Ming

Kumar wanted to find out if the seeds of different plants gemminate at the same
time. He made sure that the conditions for growth were provided for the seeds to
germinate well. What other variables should also be considered to make his

experiment a fair one?

T:  The type of seeds.

U:. The size of the pots.

V:  The amount of soil used in each pot.

(1)  Uonly ,
(2) TandUonly

(3) TandVonly

(4) UandVonly

(Go on to the next page)
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14.

Study the classification chart below.

10

L Materials [
I
i , )
Group W I | Group X J
glass marble cork
ceramic bow] inflated balloon
metal spoon styrofoam cup

Which one of the following headings is correct for Group W and X?

(1)
(2)
(3)
(4)

Group W

Group X

Stiff

Flexible

Natural

Man-made

Sinks in water

Floats on water

| Light can pass through

Light cannot pass through

Bala placed four equal lengths of different fabrics, M, N, O and P into a dish

containing some coloured water. Fifteen minutes
N, O and P absorbed the water from the dish. Th

shows the amount of water absorbed by the materials.

later, he observed that fabric M,
e shaded portion of the fabrics

Coloured water

Which one of the following conclusions about fabrics M. N, O and P is correct?

(1)
(2)
@3)
(4)

Least absorbent Most absorbent
P M N ]
M e el i P
0 i N S, S I i—
N M i B o

(Go on to the next page) -
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16.
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Some properties of four materials, A, B, C and D were tested in a laboratory. The

results are shown below.
Material Brittle Stiff Waterproof
A X ¥ v
B X X X
C X X ~
. D v ¥ v

Which one of the material above represents a rubber band?

(1 A
(2 B
3 ¢
4 D

Four parts of a bar magnet are labelled H, 1, J and K as shown in the diagram

below,

J

Which of the following represents the number of nails that are attracted to parts H,
I, J and K of a bar magnet?

H JE J

Part H

Partl

Part J Part K
(1) 2 3 5 7
(2) 9 1 2 11
(3) 7 5 4 2
(4) 2 11 11 4

(Go on to the next page)
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Prema strung three ring mag

hand. When the grip was fe

12

ets through a pencil and she pushed it together by

leased, the following was observed.

Which one of the following correctly shows the poles of P, Q and R

(1)
(2)
(3)
(4)

Q

R S
South South South North
South North South South
North North South South
North South South North

(Go on to the next page)
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19.
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Tian LewantedtoﬁnclomWmemmofmw_mem:amundmeimnnaﬂ

would affect the magnetic strength of an e net.
Which two arrangements below should he choose in order ta conduct 3 fair test?

(1)
(2)
(3
(4)

'A LB
15turns
c D
30 turns
A and B only
B and C only
B and D only
C and D only

The following describes a substance in different states of matter.

State Q

No definite shape

Can be compressed

State R

Definite shape
Cannot be compressed

Which one of the following correctly identifies the substance in State Q and State
R?

(1)
(2)

(3) L

(4)

State Q State R
Solid Liquid
Liquid Gas
Gas Liquid

| Gas Solid

{Ga on fo the next page)
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20, Farghhad 4040 ﬁiuﬁmmamm cylinder. She then placed four-objects, A,
B, C, D, ohie‘at a'time, Into/the measuring cylinder. Each time she placed an object
mhmmmwmamtalvolume‘megmphbebwshnws
the-tofal voltime aftereach object has been placed into the measuring cylinder.

180
80

™ -
60
50
40
30
20
10
0

A+B+C A+B+C+D
Objects

Total volume (mi)

Study the statements below carefully.

Object D has a smaller volume than B.

Object B and C have the same amount of matter.

The volume of Object A is twice the amouint of Object D.

The amount of water in the measuring cylinder increases after each object

is placed into it.

Which of the foilowing statement(s) is/are correct?

CHORD

(1) Rand T only
(2) SandUonly
(3) S, TandUonly
(4) Al of the above

(Go on to the next page)
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22.
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A sealed container which holds 120 cm? of water and 80 cm? of air was set up as
shown below.

pump P

L R

air

tap T
water ——— P

7

20 cm? of water was removed from the container through tap T and 60 cm? of air
was then pumped into the container using pump P.
What would be the final volume of air in the container?

(1)  80cmd

(2) 100 cm?
(3) 140cm?
(4) 160 cm3

Austen lowered a bottle with the boltom cut off into a trough of water.

What will happen when Austen removes the cap from the bottle?

E:  The water level in the bottle will increase.
F: The water level in the bottle will decrease,
G: Airin the bottle will escape from the bottle.

(1) Eonly
(2) Fonly
(3) EandGonly
(4) FandG only

(Go on to the next page)
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23.  Four sheets of metal were heated to the temperatures indicated in the diagrams
below.

B - O

Sheet A: 80°C Sheet B: 65°C SheetC:80°C  Sheet D: 65°C

Which of the following metal sheets contains the most heat energy?

(1)  SheetA
(2) SheetB
(3) SheetC
(4)  SheetD

24.  An experiment was set up as shown below.,

Retort stand seuad]]

Metal rod—"'_glr%.(—-——-—u

]

Paper clips
Lighted candle

After a few minutes, the paper clips started to drop off the metal rod, one after
another. Which one of the following correctly shows the order in which the paper
clips will drop off the metal rod?

First Second Third
(1) X N Z
(2) X Z Y -
3) Y Z X
() 4 | Y .

(Go on to the next page)
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Georgia wanted to prepare some instant noodles for lunch. When the water started
to boil, she added the packet of noodles into the pot-of water. The pot of water
stops boiling immediately.

Which of the following statements are true?
J:  The packet of noodles is cooker thai the water. -

L:  The noodles increase the temperature of the water

(1) JandKonly
(2) KandL only
(3) JandLonly
(4)  All of the above

Collin held a lighted candle over a frough of water as shown below.

As the liquid wax dripped into the trough of water, salid waxwas formed on'the
surface of the water. )

Which of the following statements is/are true?
Q: The solid wax lost heat to the flame to become liquid wax.

'R The liguid wax lost heat to the water as i touched the water.
S: The liquid wax gained heat from the water as it touched the water.

(1) Qonly
(2) Ronly
(3) QandRonly

(4) QandSonly

{Go onto the next page)
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28.
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Study the set-ups below.

Which of the two set-ups can be used to show the expansion and contraction of a

liquid?
(1) AandB
(2) BandC
(3) BandD
(4) AandC

Boiling water was poured into four bottles, P, Q, R and S which are made of
different materials. The time taken for the water in each botlle to reach room
temperature was recorded as shown below.

| Bottle Time taken for water to reach room temperature
P 13 min i
Q _ 10 min B
R 28 min e
S 18 min

Which _b_ottle is made of a material that is the poorest conductor of heat?

(1 P
(2 Q
(3 R
@ s

End of Booklet A
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[16 marks]

28, Meifang observed an animal in her garden as shown below.

woodlouse
She said that it belongs to the animal group, insects. Give two reasons why
she iswrong. . [2]
Reason 1:
Reason 2:

(Go on to the next page)



30. Study the classification chart below.

Living things
[ 4 |
|
[ 1
C D
toad tortoise water hly F
newt E - fermn
(a) Identify the groups of living things for Aand B. 1
A:
B:
(b) Identify the animal groups for C and D. 1
C:
D:
{c) Give an example of an organism for E and F. (1
£
i)

3

(Go on tothe next page)



1. Faifozsetupan ex

(@) Whatwas Fairoz trying fo find out in this experiment? [1]

(b) After 3 days, he noticed that both seeds in set-up A and B germinated.
What are the conditions required by the seeds to germinate? [1]

After 3 days, he observed and drew a picture of the germinated seed as shown

below.
Structure X
Strl-.lduré Y:
(¢) Which structure, X or Y, déveloped first? [1/2]
(d) ldentify structure X. [1/2)

A
)

(Gn on t_u the next page)




32. Study the life cycle of the butterfly as shown below.

(a) Identify Stage B in the life cycle of the butterfly. [1]

(b) The butterfly does not feed at some stages of its life cycle. Identify the two
stages. (1]

(c) Which animal has the same number of stages as the life cycle of the
butterfly? [1]

3

(Go on to the next page)
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33. The dnagramhelowshowa part of a plant.

(@ Name the part labelled M. (1]

(b) What are the two functions. of part M? [2]

(Go on to the next page)
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34, De Ming left a wooden box outside his garden as shown below.

(a) Whet would De Ming observe about the grass-patch after he lifted up the

box a few days later? (1]
(b) Explain your answer in (a). 1]
(Go on to the next:page)

End of Bookiet B1
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For questions 35 to-40, wiite' your answers in the spaces provided. The number of
marks available is shown in brackets [ Jat the end of each question or part question.

[18 marks]

Retort stand

She added weights to the thread until it broke. She repeated the experiment

using threads of four different materials and recorded the results in the table

Thread w X S i
Number of weights
before the thread broke 12 5 2 8

() What property of the materials was Devi trying to find out from this

experiment? -

Devi wanted to make a lantem as shown below.

(b) Which thread should Devi choose for part P so that the lantern would be
durable? Give 3 peason for your answer. 1]

(c) Deviplaced a lighted candle in the lantern What property should par
have in order for the lantern to be useful at night? (4

3

{Go on 1o the noxt paan)
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36. Lu Kai set up an experiment as shown below.

Magnet S

Magnet T

He slowly pushed the p
measured the distance

i- T '.[tt .lslli'%‘ '.r5"l"s‘1l.-".i_r{.z"}.tl‘tj

-3 R TR N

Magnet | Distance at which the paper

clip Is attracted o the magnet |

5
T

9 em

(@) Which magnet has a stronger magnetic strength? Explain your answer. [2]

(b) What material could the paper clip be? [1]

(Go on tothe rniext page)
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37. Jullana set up an experiment as shown below.

plunger

Syringe L (flour

She used three identical syringes and put in equal volumes of air, water and
flour in each of the syringe. She then pushed the plunger of each syringe using
the same strength.

(@) What would Juliana’s observation be for Syringe J, Kand L after she
pushed the plunger of each syringe? (1]

(b) Was the experiment a fair test? Explain why. 2]

(c) What could Juliana conclude from #ifis experimenrt about the three <

tates
of matter?

[

(Go on to the next r;age}
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38. ClementblewequajanountofairhtubameYassthbe!mv.

He then pricks Balloon Y with a needle.

(a) Draw his observation and labet the balloons after he has pricked Balloon
Y in the box below. [1]

(b) What does Clement's experiment show? 1]

2
(Gddnloﬂ'lenoxtpagej
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39. Mirah set up the experiment as shown below,

Ink Glass' tube

Flask P and Q contain air and there is a drop of ink in the glass tube. She
wanted to move the ink in the glass tube. Her teacher suggested that she could
do that by placing either-one of the flasks in a basin of hot water.

(@) Which flask should Mirah choose to put into the basin of hot water if she
wants the drop of.ink to move towards Flask Q7 [1]

(b) Explain how the hot water in the basin caused the ink in the glass tube to
mave? 2]

(Go on to the next page)



40. Xinhui set up an experiment as shown below.
W 3 (e
: 1 (A100.my

Bottle A Bottie B Bottla C -

She placed an ice block of equal yolume in each bottle made of different
materials. 30 minutes later, she removed the ice black and measured the
amount of water collected in each bottle and recorded her findings in the graph
below.

P
:

Amount of
water (cm3)

Botfle

(@) If you are going to the beach on a hot day, which bottle would you choose

to keep your drink cold? n
(b)  Explain why you chose the bottle in (a). [2]
3

End of Booklet B2
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Q34a
Q34b

Booklet B2

Q35a
Q35b
Q35¢c

Q36a

Q36b
Q37a

Q37b

Q37c

Q38a

The grass patch would have turned brown.

There is no light under the box so the grass is unable to make
food.

Devi was trying to find out how strong each material was.
She should use material W because it is the strongest.
The material should be transparent.

Magnet T as it could attract the paper clips from a further
distance than Magnet S.

The paper clip could be iron or steel.
Only syringe J would be able to be pushed in.

Yes, all the variables were kept the same except for one variable
which is the substance in the syringe.

Only gas can be compressed.

B

Q38b
Q39a

Q39b

Q40a

Q40b

Air has mass.
She should put flask P in the basin of hot water.

The hot water will cause the air in flask P to gain heat expand,
pushing the ink drop towards flask Q.

Bottle A.

The ice in bottle A melted the slowest so the material of the bottle
must be a poor conductor of heat.
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